
Вариант 1. 
 

1. Найдите общее решение дифференциального уравнения 

9sin42

2

−+−= tt
dt

Sd  

2. Решите задачу Коши 
0)0(,0)0(,8 22 =′=−=′′ − yyexy x  

3. Найдите общее решение дифференциального уравнения 
022 =−′−′′ yyy  

 
Вариант 2. 

 
1. Найдите общее решение дифференциального уравнения 

1cos362

2

+−= tt
dt

Sd  

2. Решите задачу Коши 
0)(,1)0(,cos ==−=′′ πyyxxy  

3. Найдите общее решение дифференциального уравнения 
032 =−′−′′ yyy  

 
Вариант 3. 

 
1. Найдите общее решение дифференциального уравнения 

2312
22

2

−+= t
tdt

Sd  

2. Решите задачу Коши 
eyyexy x ==+−=′′ )1(,1)0(,6  

3. Найдите общее решение дифференциального уравнения 
025 =+′−′′ yyy  

 
Вариант 4. 

 
1. Найдите общее решение дифференциального уравнения 

921
2

2

−+−= t
tdt

Sd  

2. Решите задачу Коши 
eyyey x =′=−=′′ )0(,0)1(,1  

3. Найдите общее решение дифференциального уравнения 
045 =+′−′′ yyy  

 
Вариант 5. 

 
1. Найдите общее решение дифференциального уравнения 

5sin210 2
2

2

−−= tt
dt

Sd  

2. Решите задачу Коши 

2)1(,0)1(,11
2 =′=+=′′ yy

x
y  

3. Найдите общее решение дифференциального уравнения 
023 =+′−′′ yyy  



Вариант 6. 
 

1. Найдите общее решение дифференциального уравнения 

1)(43 3 2
2

2

−+−= tt
dt

Sd  

2. Решите задачу Коши 
0)(,2)0(,cos2 =−=−=′′ πyyxxy  

3. Найдите общее решение дифференциального уравнения 
084 =+′−′′ yyy  

 
Вариант 7. 

 
1. Найдите общее решение дифференциального уравнения 

3cos21
2

2

−−= t
tdt

Sd  

2. Решите задачу Коши 
0)1(,0)0(,10 ==−=′′ yyexy x  

3. Найдите общее решение дифференциального уравнения 
0=+′′ yy  

 
Вариант 8. 

 
1. Найдите общее решение дифференциального уравнения 

822

2

−+−= tet
dt

Sd  

2. Решите задачу Коши 

0)0(,0)0(,11
=′=−=′′ yy

x
y  

3. Найдите общее решение дифференциального уравнения 
032 =−′−′′ yyy  

 
Вариант 9. 

 
1. Найдите общее решение дифференциального уравнения 

220 3
2

2

+−−= −tet
dt

Sd  

2. Решите задачу Коши 
ππ ==+=′′ )(,0)0(,sincos yyxxy  

3. Найдите общее решение дифференциального уравнения 
044 =+′−′′ yyy  

 
Вариант 10. 

 
1. Найдите общее решение дифференциального уравнения 

2
2

2

)2( −= t
dt

Sd  

2. Решите задачу Коши 

6
)(,1)0(,sin

3ππ −==+=′′ yyxxy  

3. Найдите общее решение дифференциального уравнения 
02 =+′−′′ yyy  


